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1.Analyse the following statements  and select

 wrong one .

[a] Pupil is the small opening in the centre

of iris

[b] Ligaments connects convex lens with

  ciliary muscles

[c] Sclera is the  outermost layer of eye ball

[d] Aqueous fluid  maintains the shape of

 eyeball

[e]yellow spot is the part of  retina with

 highest vision.

                           OR

 Choose the wrong option

[a] Human eye is like  a camera

[b] Iris  is a  dark  muscular diaphram  that

 control the size  of the pupil

[c] The pupil  regulates  and  controls  the

 amount  of light  entering  the eye .

[d] The eye ball is  approximately spherical

 is  shape with a diameter of  about 2.3 mm

[e] Vitreous humor  is present  between

 lens and  retina

2. From the following,  select the statement

related  with  cerebrum of Brain

[a] Largest second  part of Brain

[b]  Helps  in maintaining body balance

[c]  Controls voluntary movements

[d]  Impulse re-transmitting  centre

[e] Play an important role  in  maintaining

 homoeostasis.

 1.Xmsg X¶n-cn-¡p¶ {]kvXm-h-\-IÄ hni-I-
   e\w sNbvXv  sXämb {]kvXm-h\ sXc-
   ªSp-¡pI.

[a]  sFdn-knsâ a²y ̀ mK-¯pÅ

kpjncamWv IrjvW-aWn .

[b] tIm¬shIvkv BIrXnbnepÅ

se³kns\ kv\mbp-¡Ä sIm­v koen-

bdn t]in-I-fp-ambn_Ôn-̧ n-̈ n-cn-¡p-¶p

[c] t\{X-tKm-f-̄ nsâ _mly-]m-fn-bmWv.

ZrV ]Sew .

[d] t\-{X-tKm-f-¯nsâ BIrXn

\ne\nÀ¯p-¶-Xn\v  AIzkv {Zhw klm-

bn-¡p-¶p.

[e] sdän-\-bnÂ Gähpw IqSp-XÂ

ImgvNiàn-bpÅ ̀ mK-am-Wv ]oX-_n-µp.

2. Xmsg ]d-bp-¶-h-bnÂ akvXn-jvI-̄ nse skdn

  -{_-hpambn _Ô-s¸« {]kvXm-h\ sXc-sª
  -Sp-¡pI.

[a] Xe-t¨m-dnse c­m-as¯ hen-b-̀ m-Kw.

[b] ico-c-Xp-e\w ]men-¡p-hm³ klm-bn-

¡p-¶p.-

[c] sF-ÑnI Ne-\-§sf \nb-{´n-¡p-¶p

[d] Bth-K-§-fpsS ]p\-:{]-k-cWtI{µw.

[e] B -́c-ka-ØnXn ]me-\-̄ nÂ

 {][m\ ]¦v hln-¡p-¶p.
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3. “Light has role  in germination of seeds and

     formation  flowers in some  plants” .

Plants  shows such responses in the  above

statement  with the help of

[a]  Jacob son’s organ  [b] Omattidia

[c]  eye  spot [d]  Phytochrome

[e]  Cytochrome

OR

    The phloem in plants  are mainly  responsible for

[a] Transport of  water

[b]  Transport of  Oxygen

[c] Transport of  minerals

[d] Transport of  soluble  products of

 photosynthesis

[e]  Transport of  calcium

 4. Select the wrong statement  from the following .

[a]Destruction of  -cells or inactivation

   of  insulin  recepter may cause diabetes

    meletus

[b] Lowering of amount  of  thyroxin  in

    adults causes cretinism

[c]Gigantism is due to the increased

    production of somatotropin  during

    growing stage.

[d] Iodine is essential for the  production of

    thyroxin

[e] Hypothyroidism can be  treated  by

    thyroxin tablets.

OR

  Select the wrong statement  from the following .

[a] Lowering amount of  growth hormone

     in children  result in  dwarfinism

[b] Deficiency of a hormone  from  Adrenal

     gland  result  in diabetes melitus

[c] Gigantism  is due to the  increased

     production of  growth  hormone  during

     growing stage

[d] Iodine  is essential  for the  production

     of  thyroxin

[e] Goitre is  due to  iodine  deficiency  in

3.”Nne kky-§-fnÂ hn¯p apf-bv¡p-¶-Xn\pw

  ]q¡Ä D­m-Ip-¶-Xn\pw  {]Im-i-̄ nsâ
   kzm[o\w  D­ v”.

apI-fnÂ \ÂInbcn-¡p¶ {]kvXm-h-\-
bnÂ kky-§sf C¯cw {]Xn-I-c-W-§Ä¡v
kÖ-cm-¡p-¶-Xv.-

[a] tP-¡_v k¬kv HmÀK³

[b] Ha-äo-Unbw

[c]  sF kvt]m«v

[d] ss^tämt{Imw

[e]  ssktämt{Imw

4.Xmsg ]d-bp-¶-h-bnÂ sXämb {]kvXm-h\

    sXc-sª-Sp-¡pI

[a] _oäm tImi-§Ä \in-¡p-Itbm

 C³kp-en³ {Kmln-IÄ {]hÀ -̄\-£-a

-a-Ãm-Xm-Ip-ItbmsN¿p-¶Xv Ub-s_änkv

saen-ä-kn\v ImcWw BImw.

[b]ssXtdm-Ivknsâ Afhv Ipd-bp-¶Xv

apXnÀ¶-h-cnÂ s{Iän-\nkw F¶ tcmK-

ap-­m-¡p-¶p.

[c]hfÀ¨m L«-̄ nÂ skmam-täm-t{Sm-]n³

DXv]m-Z\w IqSp-¶Xv `oam-Im-c-Xz-¯n\v

Imc-W-am-Ip-¶p..

[d]ssXtdm-Ivkn³ DXv]m-Zn-¸n-¡p-¶-Xn\v

Ab-Un³ Bh-iy-am-Wv.

[e] ssXtdm-Ivkn³ Kpfn-I-IÄ D]-tbm-

Kn -¡p-¶-Xn -eqsS sslt¸m-ssX-tdm -

bvUnkw ]cn-l-cn-¡mw.
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 5. Match column A with Column B
         A B

    1. Female silkmoth P – Aldosterone

    2. Adrenal cortex Q- Glucagone

  3. -cells R – Bombicole

    4. Hypothalamus S- Adrenalin

    5. Adrenal medulla T – Oxydosin

[a]1– R, 2–T, 3 – S, 4 – Q, 5 – P

[b] 1– Q, 2–S, 3 – P, 4 – R, 5 – T

[c] 1– P, 2–S, 3 – Q, 4 – R, 5 – T

[d] 1– R, 2–S, 3 – Q, 4 – T, 5 – P

[e] 1– R, 2–P, 3 – Q, 4 – T, 5 – S

                        OR

       Match  Column A with Column B

1. Salivary gland P - Pepsin

2. Gastric gland Q - Bile

3. Liver R- Saliva

4. Pancreas S- Maltase

5. Small intestine T- Trypsin

[a]1– R, 2–T, 3 – S, 4 – Q, 5 – P

[b] 1– Q, 2–S, 3 – P, 4 – R, 5 – T

[c] 1– P, 2–S, 3 – Q, 4 – R, 5 – T

[d] 1– R, 2–S, 3 – Q, 4 – T, 5 – P

[e] 1– R, 2–P, 3 – Q, 4 – T, 5 – S

6. In human body  urea is  produced in

[a] Cells [b]Kidney [c]Pancreas

[d] Liver [e]None of these

OR

        In human body , Urine  is produced  in

[a]Intestine  [b]Liver  [c]Pancreas

[d] Kidney [e]None of these

7. Symptoms of a  patients is given  below

5. tImfw  A  bnÂ X¶n-cn-¡p-¶-hbv¡v A\p

  tbm-Py-ambh tImfw B bnÂ \n¶v sXc

   sª-Sp¯v tPmUn tNÀ¡p-I.

A B

1. s]¬ ]«p-\qÂ ie`w    P – BÄtUm Ìotdm¬

2. A{Uo-\Â tImÀ«Ivkv Q– ¥q¡-tKm¬

3. BÂ^m tImi-§Ä R – t_mw_n-t¡mÄ

4. sslt¸m-X-em-akv S – A{Un-\m-en³

5. A{Un-\Â saUpÃ T–HmIvko-tSm-kn³

[a]1– R, 2–T, 3 – S, 4 – Q, 5 – P

[b] 1– Q, 2–S, 3 – P, 4 – R, 5 – T

[c] 1– P, 2–S, 3 – Q, 4 – R, 5 – T

[d] 1– R, 2–S, 3 – Q, 4 – T, 5 – P

[e] 1– R, 2–P, 3 – Q, 4 – T, 5 – S

 6. a\p-jy-i-co-c-¯nÂ bqdnb \nÀamWw \S-

    ¡p-¶-Xv .

[a] tImi-¯nÂ [b] hr¡-bnÂ

[c] ]m³{In-bm-knÂ [d] Ic-fnÂ

[e]Ch-sbm-¶p-aÃ

7. Hcp tcmKn-bpsS tcmK e£-W-§Ä NphsS

   tNÀ¡p-¶p.

      tcmKw, tcmK-Imcn  Ch GXv ?
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Severe fever, Burning sensation  all over

the body,  fever rearing  at regular

intervals

Disease and  causative organism are

ITn-\-amb ]\n, ico-c-amsI Np«p-s]m-Åp¶

A\p-`-hw, \nÝnX thf-I-fnÂ ]\n BhÀ

 ¯n-¡p-¶p.



     OR

.     Which one of the following  groups are  more

       closely related

[a]Birds and insects  [b] Birds and  Bats

[c]Squirrels and Lizards [d]Lizards and  Bats

[e]  Frogs and  Insects

8. The element  essential  for  the  formation of

      chlorophyll and  accelerates the functions of

      enzymes  involved in  respiration  is

[a] Magnesium [b] Potassium

[c]  Calcium [d] Sodium

[e] Iodine

 OR

  Which one of the  following  is not  a part  of

   the  male  reproductive  system  in human  being

[a]Fallopian tube [b] Vas deferens

[c] Prostale gland [d] Seminal vesicle

[e] Penis

 9. Details of diseases of  two patients  is given

      below . Analyse  it and  fill the  blanks.
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Symptoms

Diseas

Cause

A……...... B…………

     C………… D…………….

Patient I   Patient II

1.Complete memory

loss.

  2.Lost relative

   memory

Balance disrupt

tremor due to

Irregular movem

ents of  involuntary

muscles, Oozoning

out of saliva

A……...... B…………

     C………… D…………….

tcmK-e-£Ww

tcmKn 1 tcmKn 2

1.HmÀa ]qÀ®-

ambpw \in-¡p-

¶p

tcmKw

ImcWw

Xpe\ \ne

\ j v S - s ¸ - S p -

¶p.Ass\-ÝnI

t]i n - I - f p s S

{ I a - c - l n X

Ne\w  aqew

hnd-bÂ A\p-`-

h-s¸-Sp¶p,

Dan -\oÀ HgpIn

sIm­n -c n -¡p -

¶p.

2.tIhe HmÀa

-t]mepw  \jvS-

s¸-Sp-¶p.

[a]Filariasis  - Filarial worm

[b] Malaria - plasmodium

[c] Chickenpox - Virus

[d] Tuberculosis - bacteria

[e]  Dysentry – Protozoa

            [a]a´v þ ss^te-dn-bÂ hnc

[b]  ae-¼\n þ ¹mkvtam-Unbw

[c]  Nn¡³t]mIvkv þ sshdkv

[d]  £bw þ _mIn-So-cnb

[e]hb-dp-ISn þ t{]mt«m-tkmh

 8. kky-§-fnÂ lcnXI \nÀan-Xn-¡pw  izk\

   {]{In-b-bnse F³ssk-ap-I-fpsS {]hÀ¯\w

  Xzcn-X-s¸-Sp-̄ p-¶-Xn\pw Bh-iy-amb aqe-I

  -am-Wv.

[a] aáojyw

[b]  s]m«mkyw

[c] ImÕyw

[d] tkmUnbw

[e] Ab-Un³

9. c­p tcmKn-I-fpsS tcmK hnh-c-§-fmWv

NphsS \ÂInbn-cn¡p¶Xv CXv hni-I-e\w

sNbvXv hn« `mKw ]qcn-¸n-¡p-I



 [a]   A - Parkinson’s diseases

           B- Epilepsy

           C – Reduced amount of dopamine

           D – Irregular electric waves of Brain

  [b]  A - Alzhimer’s disease

        B – Parkinson’s diseas

        C – Destruction of neurons

        D -  Reduced amount of dopamine

   [c] A – Haemophelia

        B - Parkinson’s diseas

       C – Irregular electric waves of Brain

       D - Reduced amount of Dopamine

   [d] A – Epilepsy

        B- Alzhimer’s diseas

        C- Irregular electric waves of Brain

        D- Destruction of neurons

  [e]  A- Alzhimer’s disease

             B – Epilepsy

            C – Destruction  of neuron

          D -  Irregular electric waves of Brain

OR

    Which one of the following  food chain  is

     correct

[a] Grass  Grass hopper   Frog 

Eagle   Snake

[b] Plants   Tiger Deer

[c] Grass   Fish   Goat

[d] Goat Elephent Tiger

[e] Phytoplankton  Zooplankton

Fish   Pelicans

10. Choose the correct statement  in relation

        with evolution.

       [a]Paleo anthropologist Donald Johanson

        found out  most oldest fossil of Astralo

        Pithecus

[a] A -]mÀv-¡n³k¬kv tcmKw

    B A]-kvamcw

       C tUm]an³ Ipdhv

                             D-akvXn-jvI-¯nse {Ia-c-ln-X- amb

              sshZypX Xcw-K-§Ä

[b]A AÂssj-aÀ tcmKw

                     B  ]mÀv-¡n³k¬k tcmKw

                C-\yqtdm-Wp-I-fpsS \miw

                   D   tUm]an³ Ipdhv

 [c]  A- -lotam-^o-enb

                 B-]mÀv-¡n³k¬kv tcmKw

                 C akvXn-jvI-¯nse {Ia-c-ln-X-

              amb sshZypX Xcw-K-§Ä

                 D tUm]an³ Ipdhv

 [d]  A- A]-kvamcw

   B- AÂssj-aÀ tcmKw

                  C- akvXn-jvI-¯nse {Ia-c-ln-X-

amb sshZypX Xcw-K-§Ä

     D-\yqtdm-Wp-I-fpsS \miw

[e]   A-AÂssj-aÀ tcmKw

                         B -A]-kvamcw

                 C  \yqtdm-Wp-I-fpsS \miw

                  D  akvXn-jvI-¯nse {Ia-c-ln-X-

              amb sshZypX Xcw-K-§Ä

10. ]cn-Wm-a-hp-ambn _Ô-s¸«v icn-bmb {]kvXm

   -h\ Is­-¯p-I.

[a]]pcm-\-c-hwiimkv{XÚ³

sUmWmÄUvsPmlm³k¬

 Gähpw]g¡w IqSnb Bkv{Smtem

]n¯-¡kv t^mknÂ Is­-¯n,
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     [b] Loris is  included under cercopithecoide

     [c] Ardepethecus is considered as common

        ancestor of  ape and Human

       [d] It is considered that Homo habilis is

       lived 1.8 million years ago.

       [e] Stigodone is  considered as common

         ancestor of  Gibbon.

OR

    When Mendel  crossed  Tall pea plant  with

     short (dwarf) pea plant . In the  F
2
 generation

[a] One quarter  of plants  were short

[b] 50% were with  the  genotype  TT

[c] 75% were with  the  genotype tt

[d] One quarter   of plants  were tall

 [e] 75% were with  the  genotype  Tt

11.  Analyse the given  concept map and

     complete A,B and C

 [b] temdn-kv, skÀt¡m ]n¯n-t¡m

  -bnsU F¶ hn`m-K-̄ nÂ DÄs¸-Sp¶p.

[c] BÄ Ipc-§p-I-fp-tSbpw  a\p-jy

   sâbpw  s]mXp ]qÀhn-I³ F¶pIcp

-  Xp¶ Pohn-bmWv BÀUn]n¯n-¡-kv.

[d] tlmtam l_n-enkv 1.8 Zi e£w

     hÀjw ap¼v Pohn-¨n-cp-¶-Xmbn IW

   - ¡m-¡-s¸-Sp-¶p.

[e]  Knº-Wnsâ Hcp ]qÀhn-I-\mW v

   ÌntKm-tUm¬

11.  tlmÀtam-Wp-I-fpsS {]hÀ¯-\-hp-ambn

    _Ô-s¸« Bib Nn{Xo-I-cWw  hni-I-e\w

   sNbvXv  A,B , C F¶nh ]qÀ¯o-I-cn-¡p-I.

B………

C………









sslt¸m-X-em-akv
A ……..{khn-¡p-¶p.

A{Un-\Â
tImÀ«Ivkv

tImÀ«ntkm¬

Hypothalamus

A …..secretes

B………

C………









Adrenal Cortex

Cortisone
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[a] A – inhibitory hormone

B – Anterior lobe of pituitary

C - ACTH

  [b] A – Inhibitary Hormone

B - Posterior lobe of  pituitary
C - ACTH

 [c] A- releasing Hormone

B – Posterior lobe of  Pituitary

C – ACTH

  [d] A – releasing  Hormone

B – Anterior lobe of  pituitary

C – TSH

 [e]       A – releasing  Hormone

B – Anterior lobe of  pituitary

C – ACTH

OR

         Kala  Azar is caused   by

[a]  Plasmodium [b] Leishmania

[c] Trypanosoma [d] Mosquito

[e] Entamoeba

12.  Find out wrong pair

[a]Frederic mischer

- Discover Nucleic Acid

[b] Bateson – Coined the term genetics

[c]Johansen – Introduced  principles  of

                               inheritance

[d] Watson, Crick – Discovered  structure

                    of DNA

[e]  Khorana – Discovered genetic

                           code

OR

  Find  out the  mismatch

[a] Amoeba   - Binary  fission

[b]  Plasmodium  - Multiple  fission

[c] Spirogyra    -  Regeneration

[d]  Hydra   - Budding

[e]   Planaria      - Regeneration

[a]A –C³ln-_n-ädn tlmÀtam¬

     B –]näyq-ädnbpsS ap³Zfw

     C - ACTH

[b]A – C³ln-_n-ädn tlmÀtam¬

     B - ]näyq-ädnbpsS ]n³Zfw -

     C - ACTH

[c]  A- dneo-knwKv tlmÀtam¬

      B –  ]näyq-ädnbpsS ]n³Zfw

      C – ACTH

[d] A –  dneo-knwKv tlmÀtam¬

     B –]näyq-ädnbpsS ap³Zfw

      C– TSH

[e] A – dneo-knwKv tlmÀtam¬

      B – ]näyq-ädnbpsS ap³Zfw

-      C – ACTH

12. sXämb tPmUn sXc-sª-Sp-¡pI

[a] {^U-dnIv anjÀ þ

         \yq¢nIv BknUv Is­¯n

[b] t_ävk¬ þ  P\-änIvkv F¶

                   t]cv  \ÂIn

[c] sPmlm³k¬ þ  P\n-XI \nb-a

             -    §Ä  Bhn-jvI-cn-¨p.

[d] hmSvk¬, {In¡v þ  DNAbpsS

                    LS\ Is­¯n

[e] sJmcm\ þ P\n-XI tImU v

               Is­¯n
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13.  Arrange in sequence  on the basis of

   evolutionary  relationships that given  in the

  box

Gibbon,         Orang uttan,      Chimpanzee

             Human,           Gorilla,

 [a] Gorilla, Gibbon,      Chimpanzee,

 Orang uttan , Human

[b]Human, Gibbon, Orang uttan,

   Chimpanzee, Gorilla

[c] Gibbon , Orang uttan, Gorilla,

      Chimpanzee, Human

[d] Orang uttan, Gibbon, Chimpanzee,

    Gorilla, Human

[e]Gibbon, Gorilla, Chimpanzee, Orang

   uttan, Human

                          OR

Amritha devi  Bishnoi  National  Award for

   Wild Life  Conservation  has been  instituted  by

[a] Govt of Rajasthan  [b]Govt of Gujarat

[c] Govt of India [d]Govt of  U.P

[e] Govt of  Madya Pradesh

14.  From the following,  select  the statement

     not related  to Down syndrome.

[a] 21st  trisomy

[b] Mental retardation, sterility

[c] Feminine character, dwarfness

[d] Total 47 chromosomes

[e] Reduced body immunity

OR

   Which one of the following  is not  a plant

     Hormone

[a]Gibberelin  [b] Auxine [c]Insulin

[d] Abscisic  Acid [e] Cytokinin

  15. Select wrong  statement

[a] Cardiology – treating heart diseases

[b] Oncology - treatment of cancer

[c] Neurology – treatment of  eye

[d]  Pediatrics – treatment of  child diseases

[e] Gynaecology – treatment of female

diseases.

   13. t_mIvknÂ \ÂIn-bn-cn-¡p-¶-hsb

    ]cn-Wm]c-amb _Ôs¯ ASn-Øm-\

    s¸-Sp¯n {Ia-s¸-Sp-¯p-I.

     Knº¬,     HdmMv D«m³,  Nn¼m³kn

            a\p-jy³              sKmdn-Ã,

[a] sKmdn-Ã ,Knº¬, Nn¼m³kn ,HdmMv

D«m³ , a\p-jy³

[b]a\p-jy³, Knº¬, HdmMv D«m³,

  Nn¼m³kn, sKmdn-Ã

[c] Knº¬, HdmMv D«m³,  sKmdn-Ã,

Nn¼m³kn, a\p-jy³

[d]  HdmMv D«m³,  Knº¬, Nn¼m³kn,

sKmdn-Ã, , a\p-jy³

[e]Knº¬, sKmdn-Ã, Nn¼m³kn ,HdmMv

D«m³ , a\p-jy³

14. Xmsg ]d-bp¶ {]kvXm-h-\-I-fnÂ Uu¬

kn³t{Um-ap-ambn  _Ô-an-Ãm-¯Xv sXc-

sª-Sp-¡pI .

[a] 21-þmw t{Imatkmw aqs¶®w

[b] _p²n-am-µyw, hÔy-X,

[c] kv{Xoe-£Ww, s]m¡-¡p-d-hv,

[d]  BsI 47 t{Imatkm-ap-IÄ

[e] Ipdª tcmK {]Xn-tcm[ tijn.

15. sXämb tPmUn sXc-sª-Sp-¡p-I.,

[a] ImÀUn-tbm-fPn þ lrZb NnInÕ

[b]  Hmt¦m-fPn þ Im³kÀ tcmK NnInÕ

[c]  \yqtdm-fPn þ  t\{X NnInÕ

[d] ]oUn-bm-{SnIvkv þ  inip-tcmK NnIn-Õ,

[e] ssK\-t¡m-fPn þ kv{XotcmK NnInÕ
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16. The Functional group of ether is

[a] -OH    [b] -COOH [c] -O-

 [d] -CO [e]-CHO

17. ....................is responsible for acidic

properties in acids

[a] H+ [b] H [c] OH

[d] OH- [e] None of these

18. Fullerene is a allotrope of carbon which

consists of ................... carbon atoms

[a]4 [b]6 [b]40

[d]60 [d]600

or

Find the number of moles in 34 gms  of

Ammonia(NH
3
) (At wt N=14, H=1)

[a] 1 mol [b] 6 mol [c] 4 mol

[d] 2 mol [e] 20 mol

19. The Sodium compound used in kitchen for
making food

(a) Sodium Carbonate

(b) Sodium Hydroxide

(c) Sodium  Oxide

(d)vinegar

(e) Sodium bicarbonate

20. The substance added in cement during its
       manufacture,  which helps to setting of  is

a. gravel b. Gypsum

c. Plaster of Paris d. coke

e.Lime

Or

16. CuY-dnsâ ̂ Mvj-WÂ {Kq v̧

[a] -OH    [b] -COOH [c] -O-

 [d] -CO    [e]-CHO

17 Bkn-Up-I-fnse s]mXpLSIw

[a] H+ [b] H           [c] OH

[d] OH- [e]Chsbm¶p-aÃ.

18 34 {Kmw Atam-Wnb (NH
3
) (At wt N=14,

H=1)

bnÂ F{X- tam-Ä D­v?

[a] 1 mol [b] 6 mol [c]4 mol

[d] 2 mol [e]  20 mol

19. ASp-¡-f-bnÂ `£Ww \nÀan-¡p-t¼mÄ

D]-tbm-Kn-¡p¶ tkmUnbw kwbpàw.

(a) tkmUnbw ImÀ_-tWäv

(b) tkmUnbw sslt{Um-IvsskUv

(c) tkmUnbw HmIvsskUv

(d) hn\m-Kncn

(e) tkmUnbw ss_ ImÀ_-tWäv

20 knaâ v skänwKv kabw \nb-{´n-¡m³,

knaâ v \nÀ½mW thf-bn-eÂ tNÀ¡p¶

kwbpàw.

(a) Icn-¦Ât]mSn (b) Pn]vkw

(c) ¹mÌÀ Hm^v ]mcokv (d) tIm¡v

(e) ssew
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     Tooth decay starts when the pH of the mouth
       is ……..

[a] greater than5.5 [b]less than5.5

[c] greater than7 [d]less than7

[e] at 7
21.  Arrange the part of reactivity series in the
      correct order

[a] Na,K,Mg,Cu    [b] K,Na,Cu,Mg
[c] K, Na, Mg, Cu  [d] Cu,Mg,K,Na
[e] Na, Mg, Cu, K

22. The reaction between an Organic acid and
     alcohol is

[a] Saponification
[b] Esterification
[c] Neutralisation
[d] Denaturing
[e] None of these

23 The group of the element of the atom with
     the outermost electronic configuration
     3S23P2 is

[a] 4 [b] 2 [c]12
[d] 5 [e] 14

Or
Anodisation is the process of making a layer
of the metals oxide on the metal

[a] Copper [b] Iron [c] Zinc

[d] Magnesium  [e] Aluminium

21. {Inbm-ioe t{iWn DNn-X-amb {Iao-I-cn-¡-cI

[a] Na,K,Mg,Cu

[b] K,Na,Cu,Mg

[c] K, Na, Mg, Cu

[d] Cu,Mg,K,Na

[e] Na, Mg, Cu, K

22 HÀKm-\nIv BknUpw BÄ¡-tlmfpw X½n-

epÅ {]hÀ¯\w ...................F¶ t]cnÂ Adn-

b-s¸-Sp-¶p.

[a] kt]m-Wn-^n-t¡j³

[b] FÌ-dn-^n-t¡-j³

[c] \yqs{S-sse-tk-j³

[d] Uo\m-̈ zdnwKv

[e] Ch-sbm-¶p-a-Ã.

23    _mly-X-a-sj-Ãnse Ce-t{Im¬ hn\ymkw
       3s23p2   Bb aqeIw DÄs¸-Sp¶ {Kq¸v

[a]4 [b]2 [c]12
[d]5 [e]14
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24. ……………. are  salts of sulphonic acids

[a] Detergents [b] esters
[c] Soaps [d] alcohols
[e] none of these

Or
   Bleaching powder  is prepared by the action

   of  Chlorine on ——————

[a] Dry slaked lime
[b] Wet Slaked lime
[c] Lime
[d] Lime water
[e] None of the above

25. When methane is allowed to react with
    Chlorine in the presence of sunlight. The final
    product  is …..

[a] CHCl
3

[b] CH
2
Cl

2
[c]CCl

4

[d]CH
3
Cl [e] CH

4
Cl

4

26. 2H
2
+O

2     2H
2
O. The amount of

    hydrogen combines with 16 gm of Oxygen is
[a] 1g [b] 2g  [c] 3g
[d] 4g [e] 5g

Or
   CuO and H

2
, on heating reacts to form Cu

     and    H
2
O. Here the reducing agent is …

[a] Cu [b]H
2

[c]CuO
[d] H

2
O [e] none of these

   27 Which of the following substance is used
         for treating indigestion

[a] Antibiotic [b] Analgesic.
[c]Antacid [d]Anticeptic
[e] Antypyrit

Space for rough work..

24 …………………..  kÄt^mWnIv Bkn-
Unsâ  eh-W-§-fmWv

[a] Unä-ÀPâv

[b] FÌÀ

[c] tkm¸v

[d] BÂ¡-tlmÄ

[e] Ch-sbm-¶p-a-Ã

25. aotY³ kqcy-{]-Im-i-̄ nsâ km¶n-[y-¯nÂ
t¢mdn-\p-ambn {]hÀ¯n-¡p-t¼mÄ e`n¡p¶
A´na DÂ¸¶w

[a] CHCl
3

[b] CH
2
Cl

2
[c]CCl

4

[d]CH
3
Cl [e] CH

4
Cl

4

26. 2H
2
+O

22H
2
O   CXnÂ 16g HmIvknP

    -\p-ambn {]hÀ¯n-¡p¶ ssl{U-Psâ Af-
   sh{X?

[a] 1g [b] 2g [c] 3g
[d] 4g [e] 5g

27. Zl-\-¡p-dhv ]cn-l-cn-¡m³ D]-tbm-Kn-¡p¶
  acp¶v Ch-bnÂ GXv hn`m-K-¯nÂ s]Sp¶p

[a]  Bân-_-tbm-«n¡v
[b]  A\mÄ sPknIv
[c]  Aâm-knUv
[d] Bân-sk-]vänIv
[e] Bân-ss]-ssdäv
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28 Across a period in  Modern periodic
       table the trend of metallic character

[a] First increases then decreases
[b] First decreases then increases
[c] Increase
[d] Decreases
[e] no change

29.  Ionistaion energies of 4 elements are
       given below. Find out the noble gas from
       these.

[a] 2012Kj/mol [b] 2321 Kj/mol
[c] 1254 Kj/mol  [d] 678 Kj/mol
[e]1970Kj/Mol

OR
Amalgam is an alloy in which one  of the  element
is ...........

[a] Mg [b] Hg [c] Fe
[d] Al [e] Ag

  30.  When an Iron nail is dipped in Copper
        Suphate Solution, Iron  nail changes in
        to  Copper  nail. The reaction is called

[a]Combination [b]Displacement

[c]Decomposition  [d] Oxidation

[e] Reduction

28 ]ntcm-bnUv tS_n-fnÂ Hcp ]ncn-b-UnÂ
   CS¯p \n¶v he-t¯m«v temlob kz`m-h-
   ¯nÂ hcp¶amäw.-

[a]BZyw IqSp¶p  ]ns¶ Ipd-bp-¶p.
[b] BZyw Ipd-bp¶p ]ns¶ IqSp-¶p.
[c] IqSp-¶p.
[d]Ipd-bp-¶p.
[e] Hcp-am-ähpw CÃ.

29. \mep aqe-I-§-fpsS Atbm-Wo-I-c-W DuÀPw
     Xmsg X¶n-cn-¡p-¶p. Ch-bnÂ H¶v Ae-k-
    hm-X-I-amWv . GXm-WXv ?

[a] 2012Kj/mol [b] 2321 Kj/mol

[c] 1254 Kj/mol  [d] 678 Kj/mol

[e]1970Kj/Mol

30. Ccp-¼mWn Xpcp-ip-emb\n-bnÂ(CuSO
4
)ap¡n

   sh¨mÂ Ccp-¼mWn sN¼m-Wn-bmbn amäp-¶p.
    Cu {]hÀ¯\w

[a] kwtbm-P\w     [b] BtZiw

[c]hnL-S\w       [d] HmIvko-I-cWw

[e]\ntcm-Ivko-I-cWw
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31. Two thin lenses of power + 5D and -2 D

are placed in contact with each other.

Focal length of the combination is

[a] + 3m [b] - 3m [c] 0.33m

[d] -7m [e] 0.66m

32. Bats detect the obstacles in their path

by receiving the reflected …………..

[a] Infrasonic waves

[b] Radio waves

[c] Electro-magnetic waves

[d] Ultrasonic waves

[e] X-rays

   33  When ‘n’  resistances each of value ‘r’

        are connected in parallel, then resultant

        resistance is x. When  these n resistances

       are connected in series, total resistance is

[a] nx [b] rnx [c] x/n

[d] n2x. [e] r2n

 34 Between which two planets are asteroids

        located.

[a] Mars and Jupiter.

[b] Pluto and  Jupiter.

[c] Earth and Mars.

[d] Mercury and Jupiter.

[e] Jupiter and Saturn

Space for rough work..

  31. + 5D, -2D ]hÀ se³kp-IÄ Hcp-an¨p D]-
    tbm-Kn-¨mÂ  Ah-bpsS  tIm¼n-t\-j³
    t^m¡ÂZqcw F{X

[a] + 3aoäÀ [b] - 3aoäÀ  [c] 0.33aoäÀ

[d] -7aoäÀ [e] 0.66aoäÀ

32  hÆmÂ Cc-]n-S-¡p-¶-Xn\p k©-cn-¡p-¶-
     Xn\pw D]-tbm-Kn-¡p¶  XcwKw

[a]C³{^mtkm-Wn¡v

[b]tdUntbm XcwKw

[c]sshZypIm´nI XcwKw

[d]AÄ{S-mtkm-Wn¡v XcwKw

[e]FIvksd XcwKw

     33.‘r’ {][n-tcm-[-ap-Å‘n’ {][n-tcm[I§Ä

       kam- -́c -co-Xn-bnÂ LSn-¸n¨t¸mÄ
       k^-e-{]Xn-tcm[w‘x’  F¶p-In«n. F¦nÂ
       t{iWn-co-Xn-bnÂ LSn-¸n-¨mÂ k^-e-{]-Xn-

      tcm[w F{X-bm-bncn-¡pw.

[a] nx [b] rnx [c] x/n

[d] n2x. [e] r2n

   34. Nn¶ {Kl-§Ä GsXmt¡ {Kl-§Ä¡n-
        S-bn-em-WpÅXv

[a] sNmÆbv¡pw hymg-̄ n\pw

[b] ¹qt«mbv¡pw,  hymg¯n\pw

[c] `qanbv¡pw, sNmÆbv¡pw

[d] _p[\pw, hymg¯n\pw

[e] hymg¯n\pw, i\n¡pw

Science Institute Manjeri : 0483 2768340 / Malappuram : 0483 6544222 / Perinthalmanna : 04933 223221

VERSION : A VERSION CODE : PCMB13



35  The main constituent of CNG is………

[a] Methane [b] Butane

[c]Ethane [d]Propane

[e] None of these

36 The scientist who first carried out critical

     nuclear fission reaction is.....…….

[a] Otto Hahn       [b]Enrico Fermi

[c] Hans Bethe     [d] Einstein

[e] Redmund

37 The vibrations of the pressure variations

    inside the inner ear are converted into

    electrical signals by the……………….

[a] Cochlea

[b] Tympanic membrane

[c] Pinna

[d] Anvil
[e] Stirrup

38. An object is moving with a speed of

    5m/s comes to rest in 10s, after the

   Brakes are applied.  Find the

   displacement when it comes to rest?

[a] 25m [b] 100m  [c]10 m

[d] 5m [e] 20m

39. A pendulum oscillates 40  times in 4sec

      Find its time period & Frequency?

[a] 10sec 1/10 Hz  [b] 0.1sec, 10 Hz

[c] 4sec, 1/40Hz   [d] 1/4sec, 40Hz

[e] 1sc, 1Hz

Space for rough work..

35. CNG bnse {][m\ LSIw

[a] aotY³ [b] _yqs«bv³

[c] CussY³ [d] s{]ms¸bv³

[e] Ch-sbm-¶p-a-Ã.

36. \yq¢n-bÀ ^nj³ BZy-ambn ]co-£n¨

   imkv{X-Ú³

[a] Hmt«mlm³     [b]F{ântIm s^Àan

[c]lm³kv _sX [d]sF³Ìo³

[e]sdUva³Uvv

37. IÀ®-]-S-¯nse aÀ±s¯ Ce-Iv{Sn¡v

    XcwK-§-fm¡n amäp-¶-Xv.

[a]tIm¢nb [b]IÀ®]Sw

[c]]n¶ [d]B³hnÂ

[e]Ìnd v̧v

38. 5 m/s thK-X-bnÂ k©-cn-¡p-I-bm-bn-cp¶

Hcp hml\w t{_¡v AaÀ¯n-b-t¸mÄ 10s

sIm­v \nÝ-e-am-bn,B hm-l-\-̄ nâ Øm-\m-́ -

cWw ( displacement )F{X?

[a] 25m [b] 100m   [c] 10 m

[d] 5m [e] 20m

39. Hcp s]³Upew 4 sk¡âp-sIm­v 40

    {]mhniyw tZme\w sN¿p-¶p. Cu
    s]³Up-e-̄ nsâ  ]nco-b-Uv, Bhr¯n
    F¶nh F{X-bm-Wv.

[a] 10sec 1/10 Hz    [b] 0.1sec, 10 Hz

[c] 4sec, 1/40Hz      [d] 1/4sec, 40Hz

[e] 1sc, 1Hz
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40 If the force on a surface is double and

    area reduced to half, then the pressure

    become,

[a] 2 times [b] 3times      [c] 4times

[d]1/2 times    [e]no change

41.The density of iron is 7.8g/cm3. Its density

     in kg/m3  is

[a] 0.78 [b] 7800 [c] 7.8

[d] 0.0078 [e]78

42.Which mirror is used in Solar

    concentrator?

[a] convex

[b] concave

[c] plane

[d] either plane or convex

[e] none of these

43. Astigmatism canbe corrected by using

[a] convex lens       [b] concave lense

[c] cylindrical lens  [d] bi focal lens

[e] none of these

44 Charge of 1 electron................

[a] 1.610-21 C [b] 1.710-16C

[c] 1.910-11C [d] 1.61019C

[e]1.610-19C.

45. The frequency of  Alternate current  in

      India is..............

[a] 60Hz [b] 40Hz [c] 70Hz

[d] 50Hz [e] 45Hz

Space for rough work..

40. Hcp {]X-e-̄ nÂ {]tbm-Kn-¡p¶ _ew Cc

    -«n-bm-¡p-Ibpw {]X-e-hn-kvXoÀ®w ]Ip-Xn-
    bm-¡p-Ibpw sNbvXmÂ AhnsS A\p-`-h
    s¸¶p aÀ±w

[a] Cc-«n-bm-Ip¶p   [b] 3 Cc-«n-bm-Ip¶p

[c] 4 Cc-«n-bm-Ip¶p [d]  ]Ip-Xn-bm-Ip¶p

[e] amäan-Ã.

41. Ccp-¼nsâ km{µX 7.8 g/cm3  BWv. Ccp-

    ¼nsâ km{µX kg/m3 F{X-bmWv?

[a] 0.78 [b] 7800 [c] 7.8

[d] 0.0078 [e]78

42. tkmfmÀ tIm¬k³-t{S-änÂ D]-tbm-Kn-

    ¡p¶ ZÀ¸Ww GXv?

[a] tIm¬shIvkv

[b] tIm¬tIhv

[c]ka-Xe ZÀ¸Ww

[d] tIm¬shIvtkm ka-X-e-ZÀ¸-Wtam

[e] CsXm-¶p-a-Ã.

43. AÌnIvv amänk-¯n\v Dh-tbm-Kn-¡p¶

     se³kv GXv?

[a] tIm¬shIvkv  [b] tIm¬tIhv

[c] knen-³{Un-¡Â [d] ss_tt^m¡Â

[e] CsXm-¶p-a-Ã.

44.   Hcp Ce-Ivt{Sm-Wnsâ NmÀPvF{X?

[a] 1.615-21C     [b] 1.710-16C

[c] 1.910-11C    [d] 1.61019C

[e]1.610-19C

45 C´y-bnÂ KmÀlnI kÀ¡o-«nse

{]Xn[mc sshZypXn (AC)bpsS

Bhr¯n

[a] 60Hz [b] 40Hz [c] 70Hz

[d] 50Hz [e] 45Hz
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 46.  The sum of first  8 terms  of an A.P is 84. Its

      5th term is the double  of the  3rd  term. Then

      its  4th term is

[a] 21 [b]9 [c]10.5

[d]12 [e] 18

47. Three persons A, B and C are standing together

    random  in a straight line.What  is the probability

   for A to stand  besides B

[a]
1

3
[b]

1

6
[c]

2

3

[d] 
1

12
[e] none

48. A

C

B

D

 AB is a tangent  to

the circle AD = 5x and AC = 4x . The length  of

AB is 8cm . Then x = ...................

[a]4 [b]6 [c]3

[d]16 [e]8

49. If one of the  factors  of 23 5 2x x   is

   ( 1)x  .Then the other factor  is

[a] ( 1)x  [b] ( 2)x  [c]3 2x 

[d] ( 1)x  [e]None

50.  The 10th  terms of  an A.P is m and  the sum
     of  its  first 10 terms  is also m. Then  its  first
       term   is ..............

[a]
4

5

m
 [b] m [c]

2

m

[d] 2m [e] 2m

 Space for rough work..

46.  Hcp A.P bpsS  BZys¯  8 ]Z-§-fpsS
    XpI 84. AXnsâ  5mw ]Zw 3mw ]Z-¯nsâ
    Cc-«n- bm-Wv. F¶mÂ AXnsâ 4mw ]Zw

[a] 21 [b]9 [c]10.5
[d]12 [e] 18

 47. aq¶v Bfp-IÄ A, B,C F¶n-hÀ Hcp  t\À
     tcJ-bnÂ  Hcp  {]tXyI {Iaw Icp-XmsX
     \nÂ¡p-¶p. F¶mÂ AbpsS  AcnInÂ B
       hcm-\pÅ t{]m__n-enän ( km[y-X) F{X

 [a]
1

3
[b]

1

6
[c]

2

3

[d] 
1

12
[e] CsXm-¶p-aÃ

     48. A

C

B

D

ABhr¯-¯nsâ

     kv]Ài tcJ-bmWv ( sXmSp-h-c) AD = 5x ,
       AC = 4x .AB  = 8cm  F¶mÂ  x = ............

[a]4 [b]6 [c]3
[d] 16 [e] 8

 49. 23 5 2x x  sâ Hcp  LSIw ( 1)x 

       F¶mÂ  atä LSIw ...................

[a] ( 1)x   [b] ( 2)x   [c]3 2x 

[d] ( 1)x  [e]CsXm-¶p-aÃ

 50.  Hcp A.P bpsS 10mw ]Zhpw BZys¯ 10
   ]Z-§-fpsS XpIbpw m. BWv. F¶mÂ
   AXnsâ BZy ]Zw

[a]
4

5

m
 [b] m [c]

2

m

[d] 2m [e] 2m

Science Institute Manjeri : 0483 2768340 / Malappuram : 0483 6544222 / Perinthalmanna : 04933 223221

VERSION : A VERSION CODE : PCMB16



51. If the equation 22 3 0x x k   has real  roots

      then  which of the following  should  be always
      true.

[a]
9

8
K   [b]

9

8
K  [c]

9

8
K 

[d] 
9

8
K  [e] 

9

8
K 

52 If 22sin sin 1 0x x    Then x = .......

[a]600 [b]450 [c] 00

[d] 300 [e] 900

 53. The mean of first  n natural numbers  is........

[a]n [b]
2

n
[c]n + 1

[d] 
1

2

n  
 
 

[e]  1n 

54. If 3x x   then x =

[a]
3

2


[b]

3

2
[c] 1

[d] 0 [e] 2

55. The ratio of  diameter of the circumcircle  of
      a  triangle  having  sides 3cm , 4cm  and 5cm
       to  the  diametr of  its  inner  circle is

[a]5 : 2 [b] 2 : 1 [c]3 : 1

[d]4 : 1 [e] None

Space for rough work..

 51. 22 3 0x x k    F¶ ka-hm-Iy-¯nÂ

   tcJob kwJy-I-fmb aqey-§fps­¦nÂ
   Xmsg ]d-bp-¶-h-bnÂ GXmWv FÃmbvt¸m
   gpw  icn

 [a]
9

8
K      [b]

9

8
K  [c]

9

8
K 

[d] 
9

8
K     [e] 

9

8
K 

 52. 22sin sin 1 0x x   F¶mÂx = .......

[a]600 [b]450 [c] 00

[d] 300 [e] 900

53. BZys¯ n F®Â kwJy-I-fpsS am[yw-

[a]n [b]
2

n
[c]n + 1

[d] 
1

2

n  
 
 

[e]  1n 

54. 3x x  B-bmÂx =..................

[a]
3

2


[b]

3

2
[c] 1

[d] 0 [e] 2

55. 3cm , 4cm ,5cm F¶o hi-§-fpÅ Hcp
    {XntIm-W-̄ nsâ  ]cn-hr¯ hymkhpw
    A´Àhr¯ hymkhpw X½n-ep-Å Awi
    -_-Ôw-

[a]5 : 2 [b] 2 : 1 [c]3 : 1

[d]4 : 1 [e] Chsbm-¶p-aÃ
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56. 

A

B

C
o

D
AO = 3cm , OB = 4cm ,

      CO = 2cm  then CD = .............

 [a] 9cm [b] 4cm [c]6cm
 [d]8cm  [e]10cm

57. P is a point on the circle  with  radius 5cm.
      If P is (0,0) and PQ is a  diameter .
      Then the  point Q can be

[a] ( 3,2)  [b] ( 5,0)    [c] ( 5,5)

[d](3,5)  [e] None

 58. x
C

(1,2)

(3,4)

B

A If A ( 1,2) and B

      ( 3,4)  are  points on a  straight line  and C

      is  another  point on the  plane 0BAC x  .

      Then   the  value  of x is ....................

[a]600 [b]750  [c]  900

[d] 300 [e] 450

59. The roots  of 2 0x bx c    are  p and q.

     Then  the roots of 2 2 4 0x bx c    are

[a]p and  q [b]p and q
[c] 2p and q [d] p and 2q
[e] 2p and 2q

56 Nn{X-¯nÂ AO = 3cm ,  

A

B

C
o

D

OB = 4cm , CO = 2cm F¶mÂ  CD = .........

[a] 9cm [b] 4cm [c]6cm
[d]8cm [e]10cm

57. P,  5cm Bc-apÅ hr¯-¯nse Hcp _nµp-
    hmWv. P(0,0)bpw, PQ hymkhp-amWv.
    F¶mÂ- Q B-Im-hp-¶Xv .

[a] ( 3, 2)  [b] ( 5,0)     [c] ( 5,5)

[d](3,5)  [e] Chsbm-¶p-aÃ

58 x
C

(1,2)

(3,4)

B

A A ( 1,2), B ( 3,4)

    F¶o _nµp-¡Ä Hcp  tcJ-bn-emWv.
      C AtX Xe-̄ n-epÅ asämcp _nµphpw

     0BAC x  bpw BWv. F¶mÂ x sâ

    hne.

[a]600 [b]750  [c]  900

[d] 300 [e] 450

59 2 0x bx c   F¶-k-a-hm-Iy-¯nsâ aqey-

   §Ä p bpw q Dw BWv.F¶mÂ

    2 2 4 0x bx c   F¶ ka-hm-Iy-¯nsâ

   aqey- §Ä
[a]p bpw  q Dw [b]p bpw qDw
[c] 2p bpw qDw [d] p bpw 2qDw
[e] 2p bpw 2qDw
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60. The point at which  the line having equation

         2 2 0x y    cuts  y axis  is ..............

[a]( 1,0)  [b] (1,1)       [c](1,1)
[d] (0,1) [e] (1,1)

61  A right  circular cone  having height  h is  cut

      at a height 
2

h
from the base to make another

     cone. Then the  ratio  of the  volume  of the
     cone  and  the  other  part is

[a]1 : 7 [b]1 : 8 [c] 1 : 2
[d]1 : 1 [e] 1 : 4

62. The  lateral  surface  area and  the total
      surface area of a  right  circular cone  are in
      the  ratio 5 : 8 . Then its height  and  slant
     height  are  in  the ratio

[a]3 : 5 [b]  3 : 4       [c]  4 : 5
[d]1 : 2 [e] None

63. If 2 1x   is a real  number then which  of

      the  following  is always true

[a] 1x   [b] 1x   and 1x  

[c] 1x  [d] x can have any value

[e] 1 1x  

60. 2 2 0x y   F¶ t\À tcJ yA£s¯

    JWvUn-¡p-¶ _nµp GXv?

[a]( 1,0)  [b] (1,1) [c](1,1)
[d] (0,1) [e] (1,1)

61. Hcp hr¯ kvXq]n-I-bpsS ]IpXn Db-c-
   ¯nÂ \n¶pw  asämcp hr¯ kvXq]nI
   apdn¨p amän- bmÂ -B- hr¯kvXq]n-I-bp-
   tSbpw  tijn-¡p¶  `mK-¯n-sâbpw
   hym]vX§Ä X½n-epÅ Awi-_Ôw

[a]1 : 7 [b]1 : 8 [c] 1 : 2
[d]1 : 1 [e] 1 : 4

62. Hcp hr¯ kvXq]n-I-bpsS  h{IXe hnkv
    XoÀ®hpw D]-cn-Xe hnkvXoÀ®hpw X½n-
    ep-f-f Awi-_Ôw 5 : 8 F¶mÂ AXnsâ
    D¶-Xnbpw Ncn-hp-bchpw X½n-ep-Å Awi-
     _Ôw

[a]3 : 5 [b]  3 : 4 [c]  4 : 5
[d]1 : 2 [e] Chsbm-¶p-aÃ

63 2 1x   Hcp tcJob  kwJy-bmbmÂ  Xmsg

   sImSp-¯n-cn-¡p-¶-h-bnÂ GXmWv Ft¸mgpw
   icn

[a] 1x   [b] 1x   Dw 1x  

[c] 1x  [d] x\v GXvhne-bp-amhmw

[e] 1 1x  
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64.Sum of first  9 terms of an A.P is 180. Its  8th
     term  is 35. Then the  sum  of its  first  12terms
     is ................

[a] 330 [b] 200 [c] 250
[d] 300 [e] None

65 
1 1

.........................
1 cos 1 cosA A

 
 

[a] sin2A [b] tan2A
[c] cosec2A [d] 2cosec2A
[e] sec2A

66. The volumes of  square pyramid and  square
      prism  having the same  base  are  equal .
     Then their  heights  are in the ratio

[a]1 : 3 [b]1 : 2 [c] 1 : 1
[d] 3 : 1 [e] 2 : 1

67.  
2

x y  can be ....................

[a] x y only

[b]  y x only

[c] ( )x y  or ( )y x

[d] x + y
[e] None

64.Hcp A.P bpsS  BZys¯  9  ]Z-§-fpsS
    XpI 180. AXnsâ 8mw ]Zw 35. F¶mÂ
    AXnsâ BZys¯ 12 ]Z§-fpsS XpI

[a] 330 [b] 200 [c] 250
[d] 300 [e] Chsbm-¶p-aÃ

65. 
1 1

.........................
1 cos 1 cosA A

 
 

[a] sin2A [b] tan2A
[c] cosec2A [d] 2cosec2A
[e] sec2A

66. Hcp ka-N-Xpc kvXq]n-I-bptSbpw Hcp ka-
    N-Xp-c kvXw`¯nsâbpw  ]mZ-§Ä Xpey-
    am-Wv.Ah-bpsS hym]vX-§Ä Xpey-am-bmÂ
    D¶-XnIÄ X½n-epÅ Awi-_Ôw

[a]1 : 3 [b]1 : 2 [c] 1 : 1
[d] 3 : 1 [e] 2 : 1

67.  
2

x y .= ................

[a]  x y am{Xw

[b]  y x am{Xw

[c] ( )x y  or ( )y x

[d] x + y
[e] Chsbm-¶p-aÃ
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68. 2 4 7 9 40t t t t     Then  the sum  of first

     15 terms of the A.P is

[a]150 [b] 600 [c] 300
[d]200 [e] Insufficient data

69. Two dies having  6 faces marked  numbers
      from 1 to 6  are  thrown  of the  same  time.
     What is the probability to get 3 for both dies

[a]
1

6
[b] 

1

36
[c] 

1

12

[d] 
1

18
[e] 

1

24

70. sin 1 sin 3x x   ,  then the  value  of

     sinx can be

[a] 2 [b]1 [c]
1

2

[d] 0 [e] No value satisfies

71. A(1,1) , B ( 2,3) then which  point lies on
      the  line  AB

[a] (3,4)  [b] ( 1, 3) 

[c] ( 2, 2)  [d] (2,0)

[e] (0,1)

Space for rough work..

68. 2 4 7 9 40t t t t    F¶mÂ C§-s\-

    bpÅ A.PbpsS BZys¯ 15]Z-§-fpsS
    XpI.....

[a]150 [b] 600 [c] 300
[d] 200 [e] X¶n-cn¡p¶ hnh-c-

                  §Ä h¨p ImWm³ Ign-bn-Ã

69. 1 apXÂ 6 hsc-bpÅ kwJy-IÄ  6 apJ-
     §-fn-embn Fgp-Xn-bn-cn-¡p¶ c­v ssU
     IÄ Htckabw Fdn-bp-¶p.F¶mÂ c­v
     ssUI-fnepw 3 In«m-\p-Å km[y-X.............-

[a]
1

6
[b] 

1

36
[c] 

1

12

[d] 
1

18
[e] 

1

24

70. sin 1 sin 3x x     F¶mÂ sin x sâ

     hne

 [a] 2 [b]1 [c]
1

2

  [d] 0 [e] Chsbm-¶p-aÃ

71. A(1,1) , B ( 2,3)F¶mÂ ABbnÂ ØnXn
     sN¿p¶ _nµp-thX v .

[a] (3,4)  [b] ( 1, 3) 

[c] ( 2, 2)  [d] (2,0)

[e] (0,1)
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72. If the height  of a square  pyramid  is equal
      to diagonal  of its  base of length  d  then its
      volume  is ..............

[a]
3

6

d
[b] 

31

3
d [c] 3d

[d] 
32

3

d
[e] 32d

73. If 2 0x ax a    has only one  real root

     then a  = .......................

[a] 1 [b] 2 [c]4

[d] 3 [e] None

 74. 

S

P
Q

C
R C is the  centre of the

       circle . SQ PR     
2

1 2PQ QR  

       then SQ = ...............

[a]1 2  [b] 1 2 [c] 2

[d] 2 [e] 2 1

75. 2(sec 1)(sec 1) cot .................A A A   

[a]tan2 A  [b] cos2A  [c] cosec2A

[d] 1 [e] sec2A

Space for rough work..

72. Hcpka-N-Xpc kvXq]n-I-bpsS  D¶Xnbpw
    AXnsâ ]mZ-¯nsâ  hnIÀ®hpw Xpey-am-
    Wv. hnIÀ®w d AbmÂ AXnsâ hym]vXw

[a]
3

6

d
[b] 

31

3
d [c] 3d

[d] 
32

3

d
[e] 32d

 73. 2 0x ax a   F¶ ka-hm-Iy-¯n\v  Hcp

    aqeyw am{Xta  DÅq-sh-¦nÂ  a = ............

[a] 1 [b] 2 [c]4

[d] 3 [e] Chsbm-¶p-aÃ

74.     

S

P
Q

C
R       C hr¯-tI-{µw-

     SQ PR     
2

1 2PQ QR   F-¶mÂ

     SQ  =..........

[a]1 2  [b] 1 2 [c] 2

[d] 2 [e] 2 1

 75.  2(sec 1)(sec 1) cot .................A A A   

[a]tan2 A  [b] cos2A  [c] cosec2A

[d] 1 [e] sec2A
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76. In a week’s  weather forecast the probability

    to have rain  in a day is 
1

3
. Then  what  is  the

    probability  to have two cosecutive days such

    as first day with rain and  the second day with
    no rain

[a]
1

9
[b]

2

3
[c]

2

9

[d] 
1

18
[e] 

5

9

77 The  distance between station A  and  station
     B  is 60 km. At 6.a.m .a train having  60km/h
      speed starts at A and another train with
     speed 40 km /h starts moving  in the same
     direction.  When  would  the train  starts at  A
     overtake the other train ?

[a] 9a.m  [b] 7a.m [c] 8a.m
[d] 10a.m [e] 7.30 a.m

For questions  78 to 80 Read the passage
carefully . The passage followed by  some
questions. In every questions there are  three
statements, 1,2 and 3

Put (a) If  1 and 2 are correct
(b) If 2 and 3 are correct
(c) If 3 and 1 are correct
(d) If 1,2,3 are correct
(e) If 1,2, 3 are not correct

Space for rough work..

76 Hcp BgvN-bnse  Imem-hØ  {]h-N-\-
    a-\pkcn¨v  Hcp Znhkw ag s]¿m-\pÅ

   km[yX 
1

3
bmWv. F¶mÂ XpSÀ¨-bmb

   c­p  Znh-k-§fnÂ  BZy Znhkw ag
   s]¿m\pw ASp¯ Znhkw ag-s]-¿m-Xncn-
   ¡m\papÅ km[y-X-

[a]
1

9
[b]

2

3
[c]

2

9

[d] 
1

18
[e] 

5

9

77. A , B  F¶o c­v Øe-§Ä  X½n-epÅ
    AIew 60 km.  6a.m \v  AbnÂ \n¶v
     60km/h Dw BbnÂ \n¶v 40 km /h epw c­v
    s{Sbn-\p IÄ Htc Zni-bnÂ  ]pd-s¸-Sp-¶p.
    F¶mÂ  AbnÂ  \n¶pÅ s{Sbn³  GXp
    ka-b¯v atä s{Sbn-\ns\ adn-I-S¡pw.

[a] 9a.m  [b] 7a.m [c] 8a.m
[d] 10a.m [e] 7.30 a.m

tNmZy-§Ä 78 apXÂ 80 hsc X¶n-cn-¡p¶
JWvUnI {i²m-]qÀÆw hmbn-¡p-I. CtXm-S-\p-
_-Ôn¨mWv tNmZy-§Ä sImSp-¯n-cn-¡p-¶Xv.
Hmtcm tNmZy-¯n\pw 1,2,3 F¶n-§-s\3 {]-kvXm-
h-\-IÄ D­v.-

 C-h-bnÂ
1 Dw 2 Dw icn-bm-sW-¦nÂ (a) F¶pw
2 Dw 3 Dw icn-bm-sW-¦nÂ (b) F¶pw
3 Dw 1 Dw icn-bm-sW-¦nÂ (c) F¶pw
1 Dw, 2Dw 3Dw icn-bm-sW-¦nÂ(d) F¶pw

1 Dw 2 Dw 3 Dw icn-bsÃ¦nÂ (e)
 F¶pw AS-bm-f-s¸-Sp-̄ pI
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PASSAGE

A polynomial of degree n has  n factors.

   If  (x + a) is a factor  of P(x) then ( )P a should

  be zero

78. 3 2( ) 2 2 2 2P x x x x   

1.  ( 2)x   is a factor of ( )P x

2.  ( 1)x   is a factor  of ( )P x

3.  ( 1)x   is a factor of ( )P x

79. 2 2( ) ( 2)( 5 6)P x x x x x    

1.  P(x)  has  4 factor

2  P(0) = 6

3.  ( 1)x   is a factor

80. 4 1 0x  

1.  1  is a root  of this  equation

2.  This equation  has 4 real root

3  +1  is a root

Space for rough work..

Hcp t]mfn-t\m-an-b-ensâ  IrXy¦w  n BsW-
¦nÂ AXn\v n LS-I-§ÄD­m-Ipw. (x + a)

P(x)sâ Hcp LS-I-am-bmÂ ( )P a 0 BIWw

78. 3 2( ) 2 2 2 2P x x x x   

1  ( 2)x    ( )P x sâ LS-I-am-Wv

2.  ( 1)x    ( )P x sâ LS-I-am-Wv

3.  ( 1)x    ( )P x sâ LS-I-am-Wv

79. 2 2( ) ( 2)( 5 6)P x x x x x    

1.  P(x)  \v  4  LS-I-§fp­v

2.   P(0) = 6

3.  ( 1)x   Hcp LS-I-am-Wv

80. 4 1 0x  

1. 1  Cu ka-hm-Iy-¯nsâ aqey-am-Wv.

2.  Cu ka-hm-Iy-¯n\v 4 aqey-§-fp­v

3.  +1 Cu ka-hm-Iy-¯nsâ aqey-am-Wv.
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